
Step 1-1（Assemble the headboard）

Step 1-1: need   S*6PCS(M8*56) D

K
K

J
J

C

Step 1-2

Step 1-2: need Q*4PCS(M6*35)

�

UL L

S
T

U

�
Q

Platform Bed
Set-up Instruction
   

Size:Twin XL / Twin

H*20pcs

E*2pcs

F*1pc

P*2pcs (M8*37)

Q*8pcs (M6*35) S*18pcs (M8*56)

T*10pcs

L*1pc

C*1pc D*1pc

J*1pc

K*1pc

A*1pc B*1pc

K*1pc

L*1pc

Headboard Parts List Footboard Parts List

Bed Body Parts List

Accessories List

�*4pcs

U*4pcs



Step 2-1

Step 2-2

 （Assemble the footboard）

Step 2-2: need Q*4PCS(M6*35)

Step 2-1: need   S*4PCS(M8*56)

�

U

K

B

A

L
L

 

Step 3-1: need S*4PCS(M8*56)

Step 3-1 Step 3-2

Step 3-3 Step 3-4

 （Assemble the body）

E

E

H

F

Step 3-2: need P*2PCS(M8*37)

Step 3-3: need S*4PCS(M8*56)

S
T

U

�
Q

P

1 2

S

S


